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Xih X 1978 4,275 24| 2,116 27| 2159 -3
= 3,432 7,589 -9| 3,763 -5| 3826 -4
X R 554 1369 -13 678 -5 691 -8
XX 514 1,343  -10 649 -4 694 -6
LAEHA 618 1,741 -1 874 2 867 -3
HE 7,096 16,317 -9| 8,080 15| 8237 -24
XX XX
_ 5 % _ % =
TR % R THX% T
iR R ped R =Pz R
BE 44 98 -1 46 0 52 -1 LTl 29 85 0 43 0 42 0
REA 595 1,304 4 626 0 678 4 BF 152 370 -3 186 -1 184 -2
K 19 30 -2 14 0 16 -2 XE 154 406 -3 199 -2 207 -1
HEE 84 210 -2 100 -2 110 0 VA7 N 219 508 -7 250 -2 258 -5
PR 163 274 32 156 31 118 1 INEE 554 1,369| -13 678 -5 691 -8
PIREE 831 1,742 -5 857 -2 885 -3
EER 65 177 0 85 0 92 0 HRCR#E
TER 22 69 0 35 0 34 0 L - &t 5 S
T# 20 53 0 28 0 25 0 e e R iR iR
BT HHE 60 149 0 76 0 73 0 Feh 84 229 -1 115 0 114 -1
FEY) 75 169 -2 93 0 76 -2 = 69 185 -5 87 -2 98 -3
INEE 1978 4,275 24| 2,116 27| 2159 -3 ha m 287 0 144 0 143 0
v} 71 166 -4 79 -2 87 -2
X HEE 67 189 0 89 0 100 0
e I i 3 S hn#nETE 104 269 0 125 0 144 0
R b=p iR RELFHA 8 18 0 10 0 8 0
BT RH 11 28 0 14 0 14 0 INEE 514 1,343 10 649 -4 694 -6
N7 97 222 -1 13 0 109 -1
R 19 47 0 19 0 28 0 LAEZHABKE
T 72 163 0 77 0 86 0 . - &t 5 S
Ei5 200 493 4 225 2 268 2 s EEH R 1R R
mis 216 441 0 225 -2 216 2 L2EHE—TH 121 327 0 156 0 17 0
e 77 149 0 74 0 75 0 LAEHAR-TH 47 143 -1 78 0 65 -1
THIE 104 259 -3 126 -1 133 -2 LAEHE=TH 164 466 -1 233 0 233 -1
BIR 32 82 0 44 0 38 0 LXEHEMTH 147 422 1 212 1 210 0
=%F3 20 28 -1 20 -1 8 0 LAEHEATH 139 383 0 195 1 188 -1
BEOH 266 571 -3 281 -2 290 -1 INEE 618 1,741 -1 874 2 867 -3
a4y 845 1,745 0 881 2 864 -2
ILyaioy 926 1,929 -9 960 -5 969 -4
I\E& 160 320 2 153 1 167 1
AFE 13 35 0 19 0 16 0
bl 5 19 0 11 0 8 0
mEDQE1THE 134 390 0 187 0 203 0
mEQDE2TH 235 668 2 334 1 334 1
INET 3432 7,589 -9| 3,763 -5| 3826 -4




